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Question 1.Select the related word/letters/numbers from the given alternatives:

3 M faepeat & @ FafAAa <rea/srerl/ < & gl
Cytology : Cells :: ? : Birds

HIfRrehT faT : ifrepr =2 2 - waft

Options:
1) Odontology
angieletstt

2) Mycology
EEEACEIE]
3) Etymology
e 1Y

4) Ornithology
geffasm

Correct Answer: Ornithology
uefifasm

Candidate Answer: Ornithology
.

Question 2.Select the related word/letters/numbers from the given alternatives:

R M Rreneul & @ TafAa e/ 91eRl/<e & 9Tl
RIGT : WDBY :: FUSH : ?

Options:
1) PKJQ
2) BYWD
3) DXWB
4) QKJR
Correct Answer: BYWD

Candidate Answer: BYWD

Question 3.Select the related word/letters/numbers from the given alternatives:

2 M faepeat § @ Fafaa e/ srerl/ e & gl
42:56::110:7?

Options:

Correct Answer: 132
Candidate Answer: 132

Question 4.

For the following questions
Find the odd word/letters/number from the given alternatives.

fafafea vy § R g fadredt § @ fawm sreg/ s1er/dwen &t g g ?
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Options:
1) Rupee
ug

2) Pound
LIS

3) Yen
T T
4) Currency

qI1%

Correct Answer: Currency
qI1%

Candidate Answer: Currency

g%

Question 5.

For the following questions
Find the odd word/letters/number from the given alternatives.

fofEa w8 Ry 71g fohedt 7 8 fawm <res/ s1er/dvear &l g g ?

Options:
1) DAEH
2) KIMP
3) HEIL

4) FCGJ

Correct Answer: KIMP
Candidate Answer: KIMP

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

fafafea vy § Ry g faredt & @ fawm <reg/ s1er/dwen &t g 7 ?
Options:

Correct Answer: 28-4
Candidate Answer: 28-4

Question 7.Arrange the following words as per order in the dictionary
ffafRa gl ot sreaentsr & Ry Mg v & oy EfeifRg 2

1. Direction 2. Directed 3. Director 4.Directing
Options:

1)1,4,3,2

2)2,4,1,3

3)4,2,3,1

4)4,1,2,3

Correct Answer: 2,4,1,3

Candidate Answer: 2,4, 1,3

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
e us A ve o sk e REH e e g ae Ry 7 fenedl § @ 9g 98t fArea g ¢S o/ BRI g T ?

IGT, JHS, KIR, LJQ, MKP, ?



Options:

1) LOP

2) NOP

3) NLO

4) LNO

Correct Answer: NLO
Candidate Answer: NLO

Question 9.A series is given, with one term
missing. Choose the correct alternative from the
given ones that will complete the series.

ffefed us & gar srgerd fear mar @ Qs gk ug

d de AUy fdenedl A 9 g el fdehed g A Sl
SIhH AT G T&H ?

6,10, 18, 34,2, 130
Options:

1) 78

2) 52

3) 66

4) 94

Correct Answer: 66
Candidate Answer: 66



Question 10.Introducing Reeta, Monica said, "She
is the only daughter of my father's only daughter.”
How is Monica related to Reeta?

1T Bl URTY hdTd g AT = <hgl, " ag | far ol
TRATA G Tohl TehATI G 13 " HIT-chT hl T I RIT Ty
g7

Options:

1) Aunt

aTedt/ | /AT

2) Niece

IV

3) Cousin

o< T RHA T I8

4) Mother
|l

Correct Answer: Mother
|l

andidate Answer: Mother
HI



Question 11.In a row of students, if John, who is
16th from the left, and Johnson, who is 8th from
the right, interchange their positions, John
becomes 33rd from left. How many students are
there in a row?

SHAI I Th URh ASIH I ¥ 16d WM R g 3R
SHFY , STt &lfg O 89 WM UR g [T - STUAT W
RERTGA A @ TG A 33 IEH R ST |
Gi<h H el fohdH B3 8 ?

Options:

1) 38

2) 39

3) 40

4) 41

Correct Answer: 40

Candidate Answer: 40

Question 12.From the given alternative words, select the word which cannot
be formed using the letters of the given word:

fferfea faemedt & 9 ag rea g 9§ 1 fig 70 2168 & 31&RT &1 UANT hech Ao ST
ST gehdT ?

ADMISSION



Options:

1) MISSION

2) DISMISS

3) MASONS

4) NOMADS

Correct Answer: DISMISS

Candidate Answer: DISMISS

Question 13.If in a certain language TEACHER is
coded as QBXZEBO, then how is STUDENT coded
in the same language?

gfe fordt fafre smer & TEACHER @t QBXZEBO & U

H pclchd fohdT T g a3 9T | STUDENT ol &l
T fehaT TG 2

Options:

1) PQRBAQK

2) PQRABKQ

3) PQRKBAQ

4) PRKQBAQ

Correct Answer: PQRABKQ

Candidate Answer: PQRABKQ



Question 14.If 'x' means addition, -' means division,
'+ means subtraction and '+' means multiplication,
then which of the equations is correct?

g X hT AATS AN B, - hl AdAS URT &, + <hl HdTS
YT IR + Bl Adeld 70T gl,dt AefeiRda # & pi9-41
gl el 8 ?

Options:

1)16x5+10+4-3=19
2)16+5+10x4-3=9
3)16+5-10x4+3=9
4)16-5x10+4+3=12

Correct Answer: 16 +5-10x4+3=09
Candidate Answer: 16 +5-10x4+3=9




Question 15.1f 4 x 5x 2 = 524,
3X7x2=723
and6x8x7=876
then9x4x5="7

gfe4x 5x2 =524,

3xX/x2=723
MR 6Xx8x7=8768 a

Ox4x5="7

Options:

1) 495

2) 459

3) 549

4) 954

Correct Answer: 459
Candidate Answer: 459



Question 16.Select the missing numbers from the
given responses

f&Q 7Tq fachett 7 @ o T 6ie 1 hifSg 2

43 (25 |(?
21 |40 |35
35 |34 |28

Options:

1) 36

2) 46

3) 40

4) 26

Correct Answer: 36

Candidate Answer: [ NOT ANSWERED ]




Question 17.Johnson left for his office in his car.
He drove 15km towards North and then 10km
towards West. He then turned to the South and
covered 5km. Further he turned to East & moved
8km. Finally he turned right and moved 10km. How
far & in which direction is he from his starting
point?

ST 304 hiATeld ch fol¥ SR T Tl | a8 IR <hl 3R
15 foh. 4. e, fthe 10 foh. 1. afgm &t STk 9, fR a8
cfeuT Y IR g TEIR 5 foh. |l Il SHh IIC ag 4 ol
MR TR 8 foh.#t. gan| srdd: ag afga g 18R 10
feh. =Y. =retT| 1919 fo=g © g <l U1 39 fovg, & g fehail
R AR fhafeamd g ?

Options:

1) 2 km, West

2 fop.d Y. ufgH

2) 5 km, East
S5fhdt. g @

3) 3 km, North
3 for 1. IR

4) 3 km, South
3 for. . afeyor




Correct Answer: 2 km, West
2 for.dt. ufge

Candidate Answer: 2 km, West

2 fop. =t ufgg

Question 18.Consider the given statement/s to be
true and decide which of the given
conclusions/assumptions can definitely be drawn
from the given statement.

Statements: 1. All stenographers are lazy. 2. Some
men are stenographers.

Conclusions: |. All lazy people are men. Il. Some
men are lazy.

fafafed uy A ves a1 &) ahey A T € fSiges emt gt
freepdl/ar=arg, | SR || At @ 8 3iUeht faaR sheen
¢ foh a<hed O ¢ dTg dg 9H=d: I1d a1 9 194 Udia
gidr gt 3gent Aot T & foh fRU 710 a<heg & T @hl=-
a1 AfYa U @ gl Ashdl/a=adr Faarar ST gepdr g ?




I<hed ;1. 9 LA g T8 |
2. PO AGH LA E |

[shy : | gt g aET SeHt |
| o AeHT g I |

Options:
1) Only conclusion | follows

chaol (shY | gt g |

2) Only conclusion Il follows

chaol sy || gt g |

3) Both conclusion | and conclusion Il follow

fFepy | R Il i Tat g |

4) Neither conclusion | nor conclusion Il follows

1l sy | Ggl g SR AT gl ARy || Tl g |

Correct Answer: Only conclusion Il follows

chaol s || gt g |

Candidate Answer: Only conclusion Il follows

chaol AsehY || gt g |




Question 19.Four positions of a cube are shown
below. Which color is opposite to white color in the
given cubes?

ATl fhdt & chl TR 31Ty eiidt mat ¢ fqQ g o A
the 37 ch Sieh GHA ha-AT1 37 8 ?

Options:
1) Orange
IRt

2) Blue
e

3) Red
dlel

4) Yellow
gt

Correct Answer: Blue

Yt
Candidate Answer: [ NOT ANSWERED ]



Question 20.Which one of the following figures
best represents the relationship among Kitchen,
House and Garden?

fTeliRad & 9 ol €Y STepfd I913, ¥R 3R fi< oh Hay
ot Tt & 2

Options:

1)

OO
O

2)

3)

&

4)

~
@O
Correct Answer:

Ol@

Candidate Answer:

Ol®



Question 21.Which answer figure will complete the
pattern in the question figure?

hIF-Tl IR STpld UH STpid b UdRU Rl g T 17




Options:

1)

Correct Answer:

(A




Candidate Answer:

G

Question 22.From the given answer figures, select
the one in which the question figure is
hidden/embedded

& 718 ITR IMTRfadl # T I IR 3MTepfd i F 7§ o
s Jeptd Afed & 2

R




Options:

1)

Correct Answer:

&

Candidate Answer:

&




Question 23.A piece of paper is folded and cut as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

e, fohell ShTST <ht i<l fETY U oh SR HAISh hIc]
ST dt Wi & 916 98 fhd SR Spfd o TS < 2

___________________




Options:

1)

Correct Answer:

C'a'h'd'i'd'ate Answer:




Question 24.1f a mirror is placed on the line MN,
then which of the answer figures is the right image
of the given figure?

gfe Teh gUuT cht MN ¥ RER @7 STU df & 778 I8
TRl | I hIH-HT STTpld U STpid ol el Ufdfaw
gt 2




Options:

Correct Answer:

Ca_ndidate Answer:

Question 25.In the question, a word is represented



by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the
alternatives are represented by two classes of
alphabets as in two matrices given below. The
columns and rows of Matrix | are numbered from 0
to 4 and that of Matrix Il are numbered from 5 to 9.
A letter from these matrices can be represented
first by its row and next by its column, e.g., 'P' can
be represented by 02, 13, etc., and ‘A’ can be
represented by 57, 68, etc. Similarly you have to
identify the set for the word ‘'GUNS'

FferfEa uy 7 fdeent 7 oy o d=r-a , gerkfF &
T gRIEGAQ MY E & WA Rymuateneg 1€ |

MY Igh T R U N G0 T4 TR TS

3R 371 [§ch 58 9 dch, 3 AT 1 @ Ueh &R ohl Ugdl

JYch! Ufch 3R 91¢ H Tq+ I-AT gIRT AT ST ghdl g |
J&T8X0T <h foTq, P ahl 02, 13, 311fe gRT &1 ST HehdT &

YT A ohl 57, 68,31T¢ ZIRT E=ATT ST JehdT & SHT dg O

3MUehl f¢U 2Tec 'GUNS' &h it @ @t Uga=-1g |




Options:
1) 88, 23, 59, 33

2) 66, 40,67, 11

3) 55,34,77,44

4) 99, 12, 86, 22

Correct Answer: 99, 12, 86, 22
Candidate Answer: 99, 12, 86, 22

Question 26.Which one of the following countries
is not a member of the "BRICS" group?

Frefofad & se-a1 281 foa qu o1 Geg 81 & ?



Options:

1) Brazil

RN

2) Russia

LS|

3) China

SiC|

4) Indonesia

sai i

Correct Answer: Indonesia
saiq L

Candidate Answer: Indonesia

S

Question 27. 'Do or Die'is associated with which of
the movements in India's freedom struggle

VR TGdT GUTH | 'S T AR ahl ART fhg ST ioi A
a5 187



Options:

1) Dandi March

el g

2) Non-Cooperation Movement
ITEINT Tt

3) Khilafat Movement

Reeha trater

4) Quit India Movement

TR Blel =i

Correct Answer: Quit India Movement
AR DI Tl

Candidate Answer: Quit India Movement

TR Blel <l

Question 28.'Parsec' is the unit measurement of

Ry &#hYchl AU Sahls & ?




Options:

1) Density of stars

dRehl chl FET

2) Astronomical distance
ST &3

3) Brightness of heavenly bodies

@ﬂ?ﬂuﬁr T T9h

4) Orbital velocity of giant stars
IR dIehl hl hefchi g d 1

Correct Answer: Astronomical distance
ST &3
Candidate Answer: Astronomical distance

@ieha 28

Question 29.A collective term used by the Jains for
their sacred books is

o T4 gRT 31U Uiy T o oIy ari g 20 & fohd
QTG Shl TN fhdT ST 8 ?



Options:

1) Prabandhas
Tee]

2) Angas

3T

3) Nibandhas
EER)

4) Charits
IRd

Correct Answer: Angas
3T

Candidate Answer: Angas
3T

Question 30.Which one of the following is not an
instrument of Fiscal policy?

fAHfeiied A elE! fo<dia Hifa 8t 8 2



Options:
1) Open Market Operations
g TESIR AUR =T

2) Taxation
<hTYTA

3) Public borrowing
SHATY IYR A T

4) Public expenditure
ST g

Correct Answer: Open Market Operations

Y TANIR MWR =R
Candidate Answer: [ NOT ANSWERED ]

Question 31.At room temperature, the metal that
remains liquid is:

hHR h dTU UR <hi- Il YT el AT H I+t gl 8 ?



Options:
1) Mercury
URq

2) Platinum

W THH

3) Lead
grar

4) Zinc
N @&

Correct Answer: Mercury

URc

Candidate Answer: Mercury

FINH

Question 32.Which is known as carbolic acid?

MEfefEd | a9 s

lch 3T+ ch A9 O SIET ST & ?



Options:
1) Phenol
TG

2) Ethanol
oY Td
3) Acetic acid

SEICEAYEE

4) Oxalic acid
3 Tfeleh TS
Correct Answer: Phenol

ToheTieT
Candidate Answer: [ NOT ANSWERED ]

Question 33.0n which river is the Tehri dam built?

fegt iy fohg AT IR ST g3 8 ?



Options:
1) Alakananda
3TcTch-I-<]

2) Bhagirathi
HITRAY

3) Ganga
T

4) Hooghly

Correct Answer: Bhagirathi

YRt

Candidate Answer: Bhagirathi
WRTReA

Question 34.With which country, India has the
longest international boundary?

foheT &2 o ITY YR hl oY %=l RIS AT il
R



Options:
1) Nepal
3 1@

2) Pakistan
BlICTSIE]

3) China
EIG|

4) Bangladesh
TG

Correct Answer: Bangladesh

AT

Candidate Answer: Bangladesh

qTATGRT

Question 35.Which State in India has the largest
coastline?

YR ch fhg TSI H Jad AR ded ¥ [’ ?



Options:

1) Tamil Nadu
dae arg

2) Andhra Pradesh
T¢I UG

3) Gujrat

4) West Bengal

OigH STl
Correct Answer: Gujrat

Candidate Answer: Gujrat

Question 36.Jog falls in Karnataka is located over
which river?

heteeh T ST UuTd frg a8 iR g ?




Options:
1) Kaveri

hld T ¥

2) Godavari
I AGE]

3) Saraswati

HREIAL
4) Krishna

ST
Correct Answer: Saraswati

It

Candidate Answer: Kaveri

hld T ¥

Question 37.In which of the following market
forms, a firm does not exercise control over price?

FEfefEd & O fohg UehR T IR hivdt el FafRa
e H A I@aT g ?




Options:
1) Monopoly

2) Perfect competition
g "oyt

3) Oligopoly
JTeUTIEehR

4) Monopolistic competition

QahlTSehR UfaaifraT

Correct Answer: Perfect competition
g oyt

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which one of the following areas of
India is covered by tropical evergreen forest?

Feafafed d 9 IRd T pa-a1 & I0TehicseT
HCTGgR I Y Gohl §3AT 8 ?




Options:

1) Semi-arid areas of Gujarat
TToIRId T 37 - [ & 7

2) Eastern Ghats

g eI

3) Western Ghats

it aTe

4) Madhya Pradesh

HeZ TR

Correct Answer: Western Ghats
i+t g1
Candidate Answer: [ NOT ANSWERED ]

Question 39.Which one of the following
substances is normally found in urine?

fTeRad & € hlF-91 Uerd SE=gar g \um Siidi 8

?




Options:
1) Blood proteins
Th U

2) creatinine

fepgfeta

3) red blood cells
SIGESICIIREIR

4) white blood cells
g Eh hIIRAAR

Correct Answer: creatinine

fehgfeta

Candidate Answer: [ NOT ANSWERED ]

Question 40.The thymus gland produces a
hormone called

ATIHY U G gMT I & Tadl & ST AT hed & |



Options:
1) thyroxine
AR R

2) thymosin
3) thyronine

4) calcitonin

chediet =

Correct Answer: thymosin

AT
Candidate Answer: [ NOT ANSWERED ]

Question 41.Blood group AB has

ColLTHaEq §



Options:
1) No antigen

UeerSt #E?r?%?r
2) No antibody

ﬁfr‘aﬁr@:rﬁr?g?r

3) Neither antigen nor antibody

Al U SR A1 gt YISt UTg SITd 8

4) Both antigen and antibody

S aﬁnﬁaﬂaﬁﬁwaﬁ%

Correct Answer: No antibody

LRSI ERGD]

Candidate Answer: Both antigen and antibody

Tdst  oRIT UCidist &Il UTq SiTd 8

Question 42.Which Vitamins are those, if taken in
excess can be dangerous as they are stored in the
body?

0T AT faeriaq g fSigeh! s aarh € " a
R H HiJigd gl Sild 8 3R 9Tdch UHId Sleld g ?




Options:
1) B Complex
dt. PO O

2) Eand C
g T I

3)Band C
ot T 9t

4) Aand D
q I S

Correct Answer: A and D
Q T S

Candidate Answer: [ NOT ANSWERED ]

Question 43.Atomic explosion is triggered by

URHTU] UEhIeH fchdich gRTU Id gidT g ?



Options:
1) thermo nuclear reaction
dTdi =g SRR SrtAtehar

2) chemical reaction

IO At Afchar

3) controlled chain reaction

PafSay @ sl

4) uncontrolled chain reaction

Afeifa sy @ et

Correct Answer: uncontrolled chain reaction
CIEUIECE I RCIR Eo))

Candidate Answer: controlled chain reaction

RS s @@ st

Question 44.The phenomenon of change in
direction of light when it passes from one medium
to another is called

TShILT <hl f=1T H giF dTel UiRed=T bl TeT SIdl g Yeh
HIegH 9 31 ATEAH H glche TToRdl g T Shgelldl g ?




Options:
1) Propagation
IR0

2) Reflection
ORI

3) Refraction
LR

4) Dispersion

Correct Answer: Refraction

Y-

Candidate Answer: Refraction

Aqdd

Question 45.Who has the right to decide whether a
Bill is a money bill or not?

gg ol & 1 sfdaR fhaent g fh foear g 1T 8
37T Tol ?



Options:
1) Speaker of Lok Sabha
olich T Jregel

2) Prime Minister
T H3ll

3) President
At

4) Finance Minister

ESEE]

Correct Answer: Speaker of Lok Sabha
llch T 3Tee]

Candidate Answer: Speaker of Lok Sabha
lich T 3Teel

Question 46.What is the name of portal launched
by RBI recently to check illegal money collection?

N AT (319 TRIR) | 1 &UGUT ohl (AGfAd o o oIy
STl ARSI S  SATHh 3fUSaT A Ui WTUd fohar|
SRl ATH T § ?



Options:
1) Sahyog

2) Sahayata

SHRHEGI
3) Sampark
quch

4) Sachet
gd  d

Correct Answer: Sachet

ad d

Candidate Answer: Sahayata
Halddl

Question 47 .Which of the following is not an
operating system

fAfefed A sl iR 2 1w 61 8 2



Options:
1) Android
UYgras

2) Vista
fager

3) i0S

ST
4) Opera
3T 13

Correct Answer: Opera

MY T3

Candidate Answer: Opera

MY T3

Question 48.Which pair of the following Indians
has been selected for grant of Raman Magasaysay
Award 2016

fefefEa d @ fhg wRA S Rt ord & W16 &
g @R & g g 1937 ?



Options:

1) Bezwada Wilson and T.M. Krishna

o _ STei fdedT 3R <1.TA. oo

2) T.M. Krishna and Arvind Adiga

&8.qH. pwT 3R Rrfa=< ofem

3) Arvind Adiga and Bezwada Wilson

SRfd WS iR & _ e fdes

4) T.M. Krishna and Satish Guijral

¢l. TH. PI0TT 3R Fef12T ToiTel

Correct Answer: Bezwada Wilson and T.M. Krishna
o _ STe fdedT 3R <1.TH. oo

Candidate Answer: Bezwada Wilson and T.M.
Krishna

o _ STei fded T 3R <1.TH. feom

Question 49.The discretionary powers of a
Governor is limited in

ISTUTA & fad TR g IR difAd g ?




Options:

1) Appointment of Chief Minister
q el g <

2) Dismissal of the Ministry
HATeTd hl SRETvil

3) Dissolution of the Legislative Assembly
faeT= GHT ht W hAT

4) Assent to Bills

{9 o ediepter 3

Correct Answer: Assent to Bills

R o B ieha &

Candidate Answer: Dismissal of the Ministry

AT hl S@iE it

Question 50.Who is the first law officer of the
country?

22T o7 e fafer srfdeprt spa & 2



Options:
1) Chief Justice of India
WRA AT T AT

2) Attorney General

3) Law Minister
fafer wit
4) Solicitor General

HET TR Tch ehdl

Correct Answer: Attorney General
g =ITIaTe]

Candidate Answer: Attorney General

HERITIdT!

Question 51.A is twice as good as B and together
they finish a piece of work in 16 days. The number
of days taken by A alone to finish the work is

B bl 310 184 T 71T ¥ A T & 3R 3 a1 Tep A1y
<hTH h¥ch foh gl A bl 16 IGA H G T o @1 df IdTsd
A 3Mchell I hH il fhdd RAH Y T T4




Options:
1) 20 days
20 f&=1

2) 21 days
21 f&=1

3) 22 days
22 f&=

4) 24 days
24 f&

Correct Answer: 24 days

24 feq

Candidate Answer: 24 days
24 f&1

Question 52.The successive discount of 15%, 20%
and 25% on an article is equivalent to the single
discount of

fehdt a&g TR shART: 15%, 20% 31 25% <hi B
ffeiad & 9 fohg @ & SRR gt ?




Options:
1) 60%

2) 47%
3) 49%

4) 40%
Correct Answer: 49%
Candidate Answer: 49%

Question 53.The numbers X, y, z are respectively
proportional to 2, 3, 5 and the sum of x,yand z is
80. If the number z is given by the equation z = ax-
8,thenais

GATU X,y,Z ShAST: 2,3,5 o 3IUTd H g 3R X,y,Z <l
TNThel 80 & Tl T¥AT z hl GHIIUT z = ax-8 gl dl a
chT HI HATd hiTord ?




Options:
1) 6

2) 3/2
3) 3

4)5/2
Correct Answer: 6
Candidate Answer: 3

Question 54.If the ratio of cost price and selling
price be 10:11, then the profit percentage is

gfe o 7 ISR fAeha 7 I610:11 o 31gurd # gt df a1
gfd=Td &1 g ?

Options:

1) 1%

2) 10%
3) 5%

4) 8%
Correct Answer: 10%



Candidate Answer: 10%

Question 55.The price of rice has increased by
60%. In order to restore the original price, the new
price must be reduced by

d1qed I HAd 60% TG T 5 AMAA D G 1 q HHAd W
AT oh 1T =13 hiAd ot fehd =T e oz @nfgd 2
Options:

1)

335%

2)

3) 40%

4) 45%
Correct Answer:

STIW
5 /0

Candidate Answer:

STIW
5 /0



Question 56.A man covers a total distance of 100
km on bicycle. For the first 2 hours, the speed was
20 km/hr and for the rest of the journey, it came
down to 10 km/hr. The average speed will be

ohIg <Tfh A1afchel TR 100 foh HI. hI W T HXATE TR
2 gue H IGeh! =Tet 20 foh.Ht./guer gt g iR A WM H

IYch! ITt 10 foh. HdY./90eT Bl STt & 3 d It ATd
hifSId 2

Options:

1)

12; km/hr

2; 35 Y. /deT
2) 13 km/hr
13 foh.HY./geT
3) 15 1/8 km/hr
15 1/8 for. Y. /g

4) 20 Km/hr
20 foh. 4. /5T



Correct Answer:
23 km/hr

2; R Y. /ger
Candidate Answer:
123 km/hr

25 fop.ofy /eeT

Question 57.Alipta got some amount of money
from her father. In how many years will the ratio of
the money and the interest obtained from it be
10:3 at 6% simple interest per annum?

SHferTdT ehl IGeh fUdTSIt o ehls YRR 1| feha ot | 6%

HIYRUT &TST <hl &2 9 39 ¢4 3R 39 WR A a1t 1t
T IUTd 10:3 BT ST 19




Options:

1) 7 years

7 a9

2) 3 years

3y

3) 5years

59y

4) 4 years

49y

Correct Answer: 5 years

5ay

Candidate Answer: 5 years

5ay

Question 58.1f (x - 2) (x - p) = X% - ax + 6, then the
value of (a-p) is

i (x - 2)(x - p) = Xx%- ax + 6 g dt (a - p) &I A FATSY
?



Options:
1)0

2) 1
3) 2
4) 3

Correct Answer: 2
Candidate Answer: 2

Question 59.

2 1
When 2x+; = 3, then value of x3 i 2is

2 1 .
afe 2x+;=3_5ﬁ,?ﬁ X+~ + 2 IR S

Options:
1) 2/7

2) 7/8
3) 7/2

4) 8/7
Correct Answer: 7/8



Candidate Answer: [ NOT ANSWERED ]

Question 60.

In a triangle ABC,if £A + £C = 140° and £A + 34B
= 180° then £A is equal to

ferelt nBC BB H 24+ 20 = 140° TG £A+ 3B = 180°, & 2A frod swes gim
Options:
1) 80°

2) 40°
3) 60°
4) 20°

Correct Answer: 60°
Candidate Answer: 60°

Question 6{1_._

If PA and PB are twe tangents to a cirlce with centre O such that #APBE = 80° Then ,£AOP =

afe; pa 3R pe T gea, o Few o , 00 50 9o vl ramnf 8 7 2 4PB = s0°dl 2 A0P =7



Options:
1) 40°

2) 50°
3) 60°

4) 70°
Correct Answer: 50°
Candidate Answer: 50°

Question 62.1f tan (5x - 10°) = cot (5y + 20°), then
the value of x +y is

gfe tan (5x - 10°) = cot (5y + 20°) dt x + y &l A9 1
hiford ?

Options:
1) 15°

2) 16°

3)

2

4) 24°



Correct Answer: 16°
Candidate Answer: 16°

Question 63.Which one of the following is the
minimum value of the sum of two integers whose
product is 247?

&t g e, fSiTepT TUthel 24 & o) TNTOhel ahf g o HIF
FefaRea s S T g ?

Options:

1) 25

2) 11
3) 8
4) 10

Correct Answer: 10
Candidate Answer: 10



Question 64.The average marks obtained by a
class of 60 students is 65. The average marks of
half of the students is found to be 85. The average
marks of the remaining students is

60 faenff TEh! Ueh el | U 3ichl bl 3 Ed 658 |
379 & 3d faent TgRT siga+ 85 3feh U fohu ST
g g fenfd Tgrrura siad sic I hifsrd ?

Options:
1) 35

2) 45
3) 55
4) 65

Correct Answer: 45
Candidate Answer: 45

Question 65.

r 1
Ifx = ¥a + -,y = Va- ——,(a > 0),then the value of x* + y*- 2x%y%is
va va

1 r
afgx = Ja+ TEEH"IT}- pa- o (o> 0), 8T al x* + v* - 2x2y2 FTHIA AT Rl



Options:
1) 16

2) 20
3) 10
4) 5

Correct Answer: 16
Candidate Answer: 16

Quesiion 66.

If x = Yx? + 11 — 2, then the value of x°+ 5x2 + 12xis

afg x=¥aZ+11-2 a3+ 5x2 + 12x HIHM FAW|
Options:
1)0

2) 3
3) 7
4) 11

Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]



Question 67.Which of the set of three sides can't
form a triangle?

e ddda g g aaadd €EY 96l
g gehdT g ?

Options:

1) 5cm,6cm,7 cm

5T HL, 6 THL, 7IHL

2) 5cm,8cm, 15cm

59 HL, 8T HL, 15T HL.

3)8cm,15cm, 18 cm

8T HL, 15T HL, 18 T AL

4)6cm,7cm,11cm

6T HL, 7T HL, 11T HL

Correct Answer: 5cm,8cm, 15¢cm

59 HL, 8T HL, 15T Hi.

Candidate Answer: 5cm,8cm, 15cm

59HL, 89 HL, 15T |l

Question 68.
ABisthe diameter of @ circle with centre O and P be

apoint on its circumference, [ f £POA = 120, them the value of £PBO is:

Tl Toct FI AT AB § 3R 3T o 0 & TUT IR IR W P U faog ol A £POA = 120°FT AT 2PBO HIHAW AT HIGTA 7



Options:
1) 30°

2) 60°
3) 50°

4) 40°
Correct Answer: 60°
Candidate Answer: 60°

Question 69.A pilot in an aeroplane at an altitude
of 200 m observes two points lying on either side
of ariver. If the angles of depression of the two
points be 45° and 60°, then the width of the river is

200 Y. ahl TS TR IS+ aret fhdt faqT ot uraere fahdt
TSI b L fohIRI R Gl [ ¢@dT 8 Tie it g3t <h
31T hiUT 45° 3R 60° g dt A¢! hl TS5 AT IS
?




Options:

1)

200
(200+2)m

2)

200
(200 — E}m

3) 400 v3 m

4)

400
Eim

Correct Answer:

200
{200 — E}m

Candidate Answer:

200
(200+2)m

Question 70.A solid sphere of radius 9 cm is
melted to form a sphere of radius 6 cm and a right
circular cylinder of same radius. The height of the
cylinder so formed is

0 O i, 4T dTet Teh S Ticieh ohl [UEeTeR 6 T Hi.
ST a1t Ueh Melch ST SIIAT 8 38 UehR a4 Tielch
Y ST ATd hiford ?




Options:
1) 19 cm
190 9 .

2) 21 cm
21 9 L.

3) 23 cm
23 9 Hl.

4) 25 cm
253 Hl.

Correct Answer: 19 cm

19 9 #t.

Candidate Answer: 19 cm

19 9 HL

Question 71.An arc of 30° in one circle is double an
arc in a second circle, the radius of which is three
times the radius of the first. Then the angles
subtended by the arc of the second circle at its
centre is

Tch g dd 30° chl AU § STt Yeb g8k § dchl 19 & gIHT
¢ TJ¢ T8 g dehl AT Ugel g dehl  H -0t g
dt QR g dch oheg 9 AT GIRT =R <hl0T AT gITT 2




Options:
1) 3°

2) 4°
3) 5°
4) 6°

Correct Answer: 5°
Candidate Answer: [ NOT ANSWERED ]



Question 72.Study the Bar diagram carefully and
answer the questions. The Bar diagram shows the
trends of foreign direct investment (FDI) into India
from all over the World (in Rs. crores).

IR UTh § 90 fasg @ R & faest vmer e @w
S 3M13) hl Ug o hi SART AT &R UTh <Al ATY ol
37T hIfSIT 3R UMt &1 IccdR ST |

The sum of FDI of 1992 and 1993 is

g9 1992 3R 1993 # faesht uer fAd &1 et AT
fohamT 8 ?

=



Options:
1) 15.58 cr
15.58 helS

2) 15.85 cr
15.85 aie

3) 15.22 cr
15.22 #tS

4) 15.65 cr
15.65 IS

Correct Answer: 15.85 cr

15.85 aiS

Candidate Answer: 15.85 cr
15.85 IS



Question 73.Study the Bar diagram carefully and
answer the questions. The Bar diagram shows the
trends of foreign direct investment (FDI) into India
from all over the World (in Rs. crores).

IR UTh § 90 fasg @ R & faest vmer e @w
S 3M13) I Ug o hi SART AT SR UTh ohl SATY o
37T hIfSIT 3R UMt &1 IccR SIS |

s

O | 1015 102 i
‘ | '

) 1992 553 34 1955 496

The year which exhibited the 2nd highest growth
percentage in FDI in India over the period shown is

eIl TRt SrafY & vRa A fohg o gaffdes fadsft uxer
Md Rharmar?

=



Options:
1) 1993

2) 1994
3) 1997

4) 1996
Correct Answer: 1996
Candidate Answer: 1993



Question 74.Study the Bar diagram carefully and
answer the questions. The Bar diagram shows the
trends of foreign direct investment (FDI) into India
from all over the World (in Rs. crores).

IR UTh § 90 fasg @ R & faest vmer e @@
S 3M13) I Ug o hi SART AT SR UTh <hl SAY ol
37T hIfSIT 3R UMt T IccR SIS |

1z

| 1015 1032 i
‘ | '

g 193¢ ) 54 L7 ]

The ratio of investment in 1997 to the average
Investment is

=

a9 1992 3R 1997 H fhU MU Ad &1 SUTd R ¢ |



Options:
1) 2:1

2) 1:2
3) 1:1

4) 3:1
Correct Answer: 2:1
Candidate Answer: 2:1

Question 75.Study the Bar diagram carefully and
answer the questions. The Bar diagram shows the
trends of foreign direct investment (FDI) into India
from all over the World (in Rs. crores).

IR UTh § 90 fasg @ R & faest vmer e @@
S 3M13) I Ug o hi SAT AT SR UTh <hl ATY o
37T hIfSIT 3R TSMt &1 IccR SIS |




35
30
pat
1932 1553 1554 1935 1956 1357

The absolute difference in FDI to India between
1996 and 1997

gy 1996 3R 1997 o g YR # fehy 71T facaft et
fa gy e fhaarg |

Options:
1) 7.29

2)7.13
3)7.16

4) 7.22
Correct Answer: /.13
Candidate Answer: 7.13



Question 76.In the following question, out of the
four alternatives, choose the word which best
expresses the meaning of the given word and click
the button corresponding to it.

FORSWEAR
Options:

1) SWEAR
2) OATH

3) ABUSE
4) FORSAKE

Correct Answer: FORSAKE
Candidate Answer: OATH

Question 77.In the following question, out of the
four alternatives, choose the word which is
opposite in meaning to the given word and click
the button corresponding to it.

INCLEMENT
Options:

1) RADICAL

2) MILD

3) HARSH

4) TYRANNICAL



Correct Answer: MILD
Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which
only one word is spelt correctly. Choose the
correctly spelt word and click the button
corresponding to it.

Options:

1) ANTICEPTIC

2) ANTECEPTIC

3) ANTICEPTIQUE

4) ANTISEPTIC

Correct Answer: ANTISEPTIC
Candidate Answer: ANTISEPTIC

Question 79.In the following questions, one part of
the sentence may have an error. Find out which
part of the sentence has an error and click the
button corresponding to it. If the sentence is free
from error, click the "No error” option.

The doctor says that(A)/the patient will
recover(B)/in few days(C)/No Error(D)



Options:

1) A

2)B

3)C

4)D

Correct Answer: C
Candidate Answer: C

Question 80.In the following questions, one part of
the sentence may have an error. Find out which
part of the sentence has an error and click the
button corresponding to it. If the sentence is free
from error, click the "No error" option.

| do not think that(A)/I can cope up(B)/with this
problem(C)/No Error(D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: B

Candidate Answer: B



Question 81.In the following questions, one part of
the sentence may have an error. Find out which
part of the sentence has an error and click the
button corresponding to it. If the sentence is free
from error, click the "No error" option.

The mother(A)/yearns for(B)/her only child(C)/No
Error(D)

Options:

1) A

2) B

3)C

4) D

Correct Answer: D

Candidate Answer: B

Question 82.The sentences given with blanks are
to be filled with an appropriate word(s). Four
alternatives are suggested for each question. For
each question, choose the correct alternative and
click the button corresponding to it.

Since last year his condition has been



Options:

1) deteriorate

2) deteriorating

3) severely deteriorated

4) deterioratingly

Correct Answer: deteriorating
Candidate Answer: deteriorating

Question 83.The sentences given with blanks are
to be filled with an appropriate word(s). Four
alternatives are suggested for each question. For
each question, choose the correct alternative and
click the button corresponding to it.

Most children remain school between the
ages of seven and ten.

Options:

1) in

2) under

3) at

4) inside

Correct Answer: at

Candidate Answer: at




Question 84.The sentences given with blanks are
to be filled with an appropriate word(s). Four
alternatives are suggested for each question. For
each question, choose the correct alternative and
click the button corresponding to it.

The quake also mudslides on the outskirts
of the city.

Options:

1) tempered

2) tampered

3) erupted

4) triggered

Correct Answer: triggered

Candidate Answer: [ NOT ANSWERED ]

Question 85.In each of the questions, four
alternatives are given for the Idiom/Phrase.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase and click the button
corresponding to it.

Wet behind the ears



Options:

1) Skillful

2) Young and rich with experience

3) Young and without much experience

4) Hearing impaired

Correct Answer: Young and without much
experience

Candidate Answer: [ NOT ANSWERED |

Question 86.1n each of the questions, four
alternatives are given for the Idiom/Phrase.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase and click the button
corresponding to it.

Under a cloud

Options:

1) Sheltered from the sun

2) Under suspicion

3) Out in the open

4) Get wet

Correct Answer: Under suspicion

Candidate Answer: Under suspicion



Question 87.In each of the questions, four
alternatives are given for the Idiom/Phrase.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase and click the button
corresponding to it.

Get the sack

Options:

1) Look for a sack

2) Find a sack

3) Get a call back

4) Be dismissed

Correct Answer: Be dismissed

Candidate Answer: Be dismissed

Question 88.0ut of the four alternatives, choose
the one which can be substituted for the given
words/sentences and click the button
corresponding to it.

A person's peculiar habit



Options:

1) Trait

2) ldiosyncracy

3) Idiolect

4) Talent

Correct Answer: Idiosyncracy

Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose
the one which can be substituted for the given
words/sentences and click the button
corresponding to it.

Speech delivered without preparation
Options:

1) Rhetoric

2) Oration

3) Extempore

4) Maiden speech

Correct Answer: Extempore
Candidate Answer: Extempore



Question 90.0ut of the four alternatives, choose
the one which can be substituted for the given
words/sentences and click the button
corresponding to it.

One who will do any job for anyone for money
Options:

1) Mercenary

2) Recruit

3) Hoodlum

4) Merchant

Correct Answer: Mercenary
Candidate Answer: Mercenary

Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the
underlined part which will improve the sentence.
Choose the correct alternative and click the button
corresponding to it. In case no improvement is
needed, click the button corresponding to "No
improvement".

The more they earn, more they spend




Options:

1) The more they earn, the more they spend
2) More they earn, the more they spend

3) More they earn, more they spend

4) No improvement

Correct Answer: The more they earn, the more they
spend

Candidate Answer: The more they earn, the more
they spend

Question 92.A sentence/a part of the sentence is
underlined. Four alternatives are given to the
underlined part which will improve the sentence.
Choose the correct alternative and click the button
corresponding to it. In case no improvement is
needed, click the button corresponding to "No
improvement”.

The offerings were placed on the alter
Options:

1) on the altar

2) on the steps

3) on the platform

4) No improvement

Correct Answer: on the altar




Candidate Answer: on the altar

Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the
underlined part which will improve the sentence.
Choose the correct alternative and click the button
corresponding to it. In case no improvement is
needed, click the button corresponding to "No
improvement’”.

Really speaking, no man is perfect
Options:

1) Strictly

2) slightly

3) vaguely

4) No improvement

Correct Answer: Strictly

Candidate Answer: No improvement



Question 94.A sentence/a part of the sentence is
underlined. Four alternatives are given to the
underlined part which will improve the sentence.
Choose the correct alternative and click the button
corresponding to it. In case no improvement is
needed, click the button corresponding to "No
improvement’.

Mankind does not know this
Options:

1) do

2) had

3)is

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement



Question 95.A sentence/a part of the sentence is
underlined. Four alternatives are given to the
underlined part which will improve the sentence.
Choose the correct alternative and click the button
corresponding to it. In case no improvement is
needed, click the button corresponding to "No
improvement”.

Practically every part of the coconut tree is used by
man

Options:

1) each

2) most

3) any

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement

Question 96.A passage is given with 5 questions
following it. Read the passage carefully and
choose the best answer to each question out of
the four alternatives and click the button
corresponding to it.

Dyslexia is a perceptual disorder often occurring in



persons of normal, or even above average
intelligence. The reader is unable to perceive
correctly what is on a page. Letters and numbers
often appear reversed: "b" seems to be "d","quite” is
"quiet” and "from" is "form". The reader tends to
leave out letters or words or insert words or letters
that are not there. Vowel and consonant sounds
may be confused. Many dyslexics are left-handed
or able to write with either hand. They often
confuse left and right. Learning to speak may also
be delayed beyond infancy. The condition seems
to be inherited. It may persist into adulthood.
However, with early recognition and specialized
approaches to teaching reading, most dyslexics
can learn to read.

Some researchers believe that latent dyslexia may
be aggravated by the way reading is taught. The
modern whole-word, or look-and-say, method
seems to be more of a hindrance to learning for
dyslexics than it is for ordinary pupils. The
phonetic method of teaching students to learn
letters and sound them out appears to achieve
better reading results. The problem of words that
cannot be sounded out - such as rough, laugh or
through - is not solved by phonetics. These words
must simply be memorized. However, for children



with dyslexia the problem can be compounded by
the failure of parents or teachers to recognize the
condition. This can easily lead to emotional
problems for dyslexic children, who cannot
understand their failure to keep up with their
classmates.

Dyslexia, often occurring in persons of normal, or
even above average intelligence, is a
Options:

1) Conceptual disorder

2) Pathological disease

3) Perceptive disorder

4) Perceptual disorder

Correct Answer: Perceptual disorder

Candidate Answer: Perceptual disorder

Question 97.A passage is given with 5 questions
following it. Read the passage carefully and
choose the best answer to each question out of
the four alternatives and click the button
corresponding to it.



Dyslexia is a perceptual disorder often occurring in
persons of normal, or even above average
intelligence. The reader is unable to perceive
correctly what is on a page. Letters and numbers
often appear reversed: "b" seems to be "d","quite" is
"quiet” and "from" is "form". The reader tends to
leave out letters or words or insert words or letters
that are not there. Vowel and consonant sounds
may be confused. Many dyslexics are left-handed
or able to write with either hand. They often
confuse left and right. Learning to speak may also
be delayed beyond infancy. The condition seems
to be inherited. It may persist into adulthood.
However, with early recognition and specialized
approaches to teaching reading, most dyslexics
can learn to read.

Some researchers believe that latent dyslexia may
be aggravated by the way reading is taught. The
modern whole-word, or look-and-say, method
seems to be more of a hindrance to learning for
dyslexics than it is for ordinary pupils. The
phonetic method of teaching students to learn
letters and sound them out appears to achieve
better reading results. The problem of words that
cannot be sounded out - such as rough, laugh or
through - is not solved by phonetics. These words



must simply be memorized. However, for children
with dyslexia the problem can be compounded by
the failure of parents or teachers to recognize the
condition. This can easily lead to emotional
problems for dyslexic children, who cannot
understand their failure to keep up with their
classmates.

In Dyslexia, letters and figures often appear

Options:

1) Inverted

2) Blurred

3) Reversed

4) Clustered

Correct Answer: Reversed

Candidate Answer: Reversed

Question 98.A passage is given with 5 questions
following it. Read the passage carefully and
choose the best answer to each question out of
the four alternatives and click the button
corresponding to it.



Dyslexia is a perceptual disorder often occurring in
persons of normal, or even above average
intelligence. The reader is unable to perceive
correctly what is on a page. Letters and numbers
often appear reversed: "b" seems to be "d","quite" is
"quiet” and "from" is "form". The reader tends to
leave out letters or words or insert words or letters
that are not there. Vowel and consonant sounds
may be confused. Many dyslexics are left-handed
or able to write with either hand. They often
confuse left and right. Learning to speak may also
be delayed beyond infancy. The condition seems
to be inherited. It may persist into adulthood.
However, with early recognition and specialized
approaches to teaching reading, most dyslexics
can learn to read.

Some researchers believe that latent dyslexia may
be aggravated by the way reading is taught. The
modern whole-word, or look-and-say, method
seems to be more of a hindrance to learning for
dyslexics than it is for ordinary pupils. The
phonetic method of teaching students to learn
letters and sound them out appears to achieve
better reading results. The problem of words that
cannot be sounded out - such as rough, laugh or



through - is not solved by phonetics. These words
must simply be memorized. However, for children
with dyslexia the problem can be compounded by
the failure of parents or teachers to recognize the
condition. This can easily lead to emotional
problems for dyslexic children, who cannot
understand their failure to keep up with their
classmates.

People suffering from dyslexia are often

Options:

1) right handed

2) far sighted

3) ambidextrous
4) only left handed

Correct Answer: ambidextrous
Candidate Answer: ambidextrous

Question 99.A passage is given with 5 questions
following it. Read the passage carefully and
choose the best answer to each question out of
the four alternatives and click the button



corresponding to it.

Dyslexia is a perceptual disorder often occurring in
persons of normal, or even above average
intelligence. The reader is unable to perceive
correctly what is on a page. Letters and numbers
often appear reversed: "b" seems to be "d","quite" is
"quiet” and "from" is "form". The reader tends to
leave out letters or words or insert words or letters
that are not there. Vowel and consonant sounds
may be confused. Many dyslexics are left-handed
or able to write with either hand. They often
confuse left and right. Learning to speak may also
be delayed beyond infancy. The condition seems
to be inherited. It may persist into adulthood.
However, with early recognition and specialized
approaches to teaching reading, most dyslexics
can learn to read.

Some researchers believe that latent dyslexia may
be aggravated by the way reading is taught. The
modern whole-word, or look-and-say, method
seems to be more of a hindrance to learning for
dyslexics than it is for ordinary pupils. The
phonetic method of teaching students to learn
letters and sound them out appears to achieve
better reading results. The problem of words that



cannot be sounded out - such as rough, laugh or
through - is not solved by phonetics. These words
must simply be memorized. However, for children
with dyslexia the problem can be compounded by
the failure of parents or teachers to recognize the
condition. This can easily lead to emotional
problems for dyslexic children, who cannot
understand their failure to keep up with their
classmates.

Dyslexia may
Options:

1) be noticed during infancy

2) last till childhood

3) persist into adulthood

4) end when one goes to school

Correct Answer: persist into adulthood
Candidate Answer: persist into adulthood

Question 100.A passage is given with 5 questions
following it. Read the passage carefully and
choose the best answer to each question out of
the four alternatives and click the button



corresponding to it.

Dyslexia is a perceptual disorder often occurring in
persons of normal, or even above average
intelligence. The reader is unable to perceive
correctly what is on a page. Letters and numbers
often appear reversed: "b" seems to be "d","quite" is
"quiet” and "from" is "form". The reader tends to
leave out letters or words or insert words or letters
that are not there. Vowel and consonant sounds
may be confused. Many dyslexics are left-handed
or able to write with either hand. They often
confuse left and right. Learning to speak may also
be delayed beyond infancy. The condition seems
to be inherited. It may persist into adulthood.
However, with early recognition and specialized
approaches to teaching reading, most dyslexics
can learn to read.

Some researchers believe that latent dyslexia may
be aggravated by the way reading is taught. The
modern whole-word, or look-and-say, method
seems to be more of a hindrance to learning for
dyslexics than it is for ordinary pupils. The
phonetic method of teaching students to learn
letters and sound them out appears to achieve
better reading results. The problem of words that



cannot be sounded out - such as rough, laugh or
through - is not solved by phonetics. These words
must simply be memorized. However, for children
with dyslexia the problem can be compounded by
the failure of parents or teachers to recognize the
condition. This can easily lead to emotional
problems for dyslexic children, who cannot
understand their failure to keep up with their
classmates.

The problem of perception can be compounded by
the failure of parents and teachers to

Options:

1) provide treatment

2) recognize the condition

3) correct the child at infancy

4) understand the child

Correct Answer: recognize the condition
Candidate Answer: recognize the condition





